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S AE A 15,992,465 15,785,617 206,848
2 859,050
< 256,853
Al 14,876,562
HEE SFHFxY 12,028,847 11,588,219 440,628
= 859,050
< 256,853
Al 10,912,944
2013t 4,266,860 3,395,900 870,960
= 10,000
< 48,038
Al 4,208,822
HAEH 22l 567,500 542,500 25,000
201 YEt2 bl 347,500 407,500 60,000
01 At 22l 15,000 15,000 0
OB+t 15,000, 000& 15,000
02 =224l 332,500 392,500 A 60,000
03323 & HA 10,000, 000& 10,000
O A& ZEHlI s X bl 5,000,000& 5,000
oFAXE UHMEX FHH| 67,500,000& 67,500
oxg |SFl 250,000,000 250,000
401 Al HI L = Tl 70,000 55,000 15,000
01 A& HI 70,000 55,000 15,000
OMEE SUONY AlY EXI(FLE00AaH)
50,000,000& 50,000
OAJIXY &dZs g2 & &
20,000,000& 20,000
405 Xt&tE SHI 150,000 80,000 70,000
01 AL = ZFH SHI 150,000 80,000 70,000
A% 7Y 150,000, 000& 150,000
MedISEH =& 3,323,500 2,493,500 830,000
201 Yute | 60,500 73,500 A 13,000
01 At 22l 23,400 36,400 A 13,000
O el 9,000,000& 9,000
OH=SEMN LAY 243t 7,000,000 7,000
o=l 2,000,000& 2,000
O NI Mgdl=H =& dX=
2,400,000& 2,400
OfIGEEHH BLEA =2 X3
3,000,000& 3,000
02 2324l 37,100 37,100 0
O0z3E2= & HA 7,500,000 7,500
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OZENESE HIMAIAY KX E4
4,400,000 4,400
OZZHEE &1 KA E=Hl 2,800,000& 2,800
OUEHIIES ADAIAE RXE2H|
2,400,000& 2,400
O Xt& & Byl 20,000,000& 20,000
202 OHl 6,000 6,000 0
01 = LH 4 Hi 6,000 6,000 0
O=2A=Z 0l 6,000,000& 6,000
203 YR =&l 3,000 3,000 0
03 MM Z=XH S =AY 3,000 3,000 0
oMdDl 2cltiE g8 g2 F4A
2,000,000& 2,000
OMEHIIZ HANL &5 242 =7
1,000, 000& 1,000
206 M= Hl 369,000 369,000 0
01 =4l 369,000 369,000 0
ordll €M % M 250,000, 000& 250,000
OHII=ZM M= 78,000,000& 78,000
osASMI ERES A 8,000,000& 8,000
omMagEs+=He M= 23,000,000& 23,000
OHEZS=HE M= 5,000,000& 5,000
OHAXXI=HE M= 5,000,000 5,000
207 51 OH £l 35,000 35,000 0
01 2284 35,000 35,000 0
OdEHII= =828 AU FIHE S
20,000,000 20,000
OdEHII=S =828 LM EI EF
15,000, 000& 15,000
307 21201 A 2,850,000 2,000,000 850,000
05 BIZHRIE 3 2,850,000 2,000,000 850,000
OMEMHIE =&2¢E AEUHSE E4H|
2,850,000, 000& 2,850,000
Mo 2HEI 22 87,500 14,500 73,000
201 Let24d| 12,500 14,500 A 2,000
01 At 22l 12,500 14,500 A 2,000
o gBt+=&H| 10,000, 000& 10,000
o=l 1,000, 000& 1,000
oMeDl SHHE o2 S
1,500, 000& 1,500
401 Al HIZ 2018 75,000 0 75,000
01 A& HI 75,000 0 75,000
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25,000,000& 25,000
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201 £B-2d| 52,900 36,400 16,500
01 At 22l 45,900 29,400 16,500
O 2 et==EH| 10,000, 000& 10,000
O= &l 2,000,000 2,000
ogxtz 2,400,000& 2,400
osdE224 Il=l 26,500,000 26,500
OfZdERA LB EY 5,000,000& 5,000
02 =224l 7,000 7,000 0
03322 2 HA 4,000,000& 4,000
(©F%R=a.] 3,000,000& 3,000
SEHHYE =HEd= 120,000 120,000 0
= 10,000
< 10,000
Al 100,000
301 LEd = 120,000 120,000 0
= 10,000
< 10,000
Al 100,000
12JEEd= 120,000 120,000 0
O=ZHHlE =H243 X& 120,000,000& 120,000
= 10,000
< 10,000
Al 100,000
MEHIIZ2 Z2lthE &S00 At 38,860 54,000 A 15,140
< 11,658
Al 27,202
101 @124 dl 38,860 54,000 A 15,140
< 11,658
Al 27,202
4 D122 E2XREES 38,860 54,000 A 15,140
OMEHIIES 2cltHE=<0 AFg
38,860, 000& 38,860
< 11,658
Al 27,202
HEES = L ESAY 9,600 10,000 A 400
< 2,880
Al 6,720
206 M= Hl 9,600 10,000 A 400
< 2,880
Al 6,720
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< 15,000
Al 35,000
201 et 50,000 70,000 A 20,000
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Al 35,000
01 AP 2t 2] H| 50,000 70,000 A 20,000
OYXl dsHJI8 =H ¥ X2l 50,000,000& 50,000
< 15,000
Al 35,000
OOl AT THAIE AIY 17,000 0 17,000
= 8,500
Al 8,500
206 T 24 17,000 0 17,000
o= 8,500
Al 8,500
01 =4l 17,000 0 17,000
O0to| AT THAIEZ ALY 17,000,000 17,000
< 8,500
Al 8,500
HAANE 22| 6,163,887 6,942,419 NT78,532
2 13,000
Al 6,150,887
NS AIE 22 1,091,100 883,600 207,500
201 LBt 9| 703,600 633,600 70,000
01 AP 22| H| 33,600 33,600 0
O&EESL £EBA =2 9,600,000 9,600
OXote =&HA =2 8,000,000& 8,000
OB =¥ o+ +EAA +48
6,000,000& 6,000
og9AE 2 10,000,000 10,000
02 232 H| 670,000 600,000 70,000
O A& & HI KX H| 30,000,000 30,000
OHIIZ2 M& g2 240,000, 000& 240,000
OMEHIIE XNelbl 400,000,000& 400,000
206 M = Hl 18,000 18,000 0
01 W2l 18,000 18,000 0
OEH &F:E EM BHXME 2
10,000,000& 10,000
OEg & HHAAE 2l 8,000,000 8,000
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12JEEd=S 170,000 157,500 12,500
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401 AIEHIZL 2CHYI 50,000 50,000 0
01 A& Hl 50,000 50,000 0
OUEE =tiHMAI4E EHISA 50,000,000 50,000
405 RHoHF S HI 125,000 0 125,000
01 AL EZFH S 125,000 0 125,000
ONMYY SEXNYS HTE DY 7Y
125,000, 000& 125,000
A2PAIE 22 3,692,184 3,684,085 8,099
201 €24 245,000 245,000 0
02 =224l 245,000 245,000 0
OA2Z REXE FFUI 3,000,000& 3,000
OA2E 2EtXE 2l 2,000,000& 2,000
OHIIEXM==RES 240,000, 000& 240,000
307 glz2+ol & 3,447,184 3,439,085 8,099
05 RIZHRI &t 3 3,447,184 3,439,085 8,099
OBIZETAIY HEHIIZS 220Xl
3,427,184,000& 3,427,184
ORAEIAY &d=ER= 20,000,000& 20,000
SASFHIIZ2 HMe2lAIE 22l 714,416 784,790 AT70,374
201 Let2d] 150,000 61,500 88,500
02 2324l 150,000 60,000 90,000
OSAEF HII= 22 fAEHMeld]
30,000,000& 30,000
OSAMER HJIIZ M2ANE &EIIRS
120,000, 000& 120,000
308 XXM SOIA 560,296 0 560,296
3/ 2SOoHetE & XA E A I 560,296 0 560,296
OSAEF HJIIZS XMelAlE 2e/Hdl
560,296,000 560,296
403 MtXISHH S0l & 4,120 0 4,120
02 SO 2SOICHe 2R 2 E A I 4,120 0 4,120
OSAEF HII= HMclAlE Zeltid
4,120,000& 4,120
SMUUX SSAE 2el 18,000 18,000 0
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201 Le-2d| 18,000 18,000 0
01 At 22l 3,000 3,000 0

OHZZE= AN 2€422F 72 3,000,000 3,000
02 2324l 15,000 15,000 0
OHZEZE= AMEEHI SN 15,000, 000& 15,000
MeEaHdEALE 2e| 522,187 412,944 109,243
101 @124l 255,787 291,544 A 35,757
04 JIZHHZ2XNSE =+ 255,787 291,544 N 35,757
OMEES dEALE 22 255,787
ool 182,907,000& 182,907
oFXtrg 35,174,000 35,174
oIt 6,156,000 6,156
c4HEE R 29,150,000 29,150
oZz X Il=H S 2,400,000& 2,400

201 2yt 2 Y| 116,400 91,400 25,000

01 At 22l 11,400 11,400 0
oO2ZLEE 7Y 9,000,000 9,000
OdJ|etE e W2 2,400,000& 2,400

02 2324l 105,000 80,000 25,000
0Z2322= ¥ AMEZHI=X b 60,000,000& 60,000
Osg 287 fEHeltl 20,000,000& 20,000
oMgs4L8E MMHS IS X™eldl 25,000,000 25,000

401 AIEHI L 2 CHYI 150,000 30,000 120,000

01 A& HI 150,000 30,000 120,000

OMEELEZE HUHELEI AXSA

150,000, 000& 150,000

Mg SEMNS ALY 26,000 0 26,000
= 13,000
Al 13,000

101 124l 26,000 0 26,000
= 13,000
Al 13,000

04 JI2ZtHZ22HEE = 26,000 0 26,000
OMNMEES SEME XA 26,000,000 26,000
= 13,000
Al 13,000

ASAHOHEE SHE AN (2-3CH ) 100,000 0 100,000
401 AIEHI L 20 100,000 0 100,000
01 A& Hl 100,000 0 100,000
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= 836,050
< 208,815
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= 140,000
Al 60,000
101 @124l 150,000 150,000 0
= 105,000
Al 45,000
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Odtd ot fRXdI| HMel 150,000, 000& 150,000
= 105,000
Al 45,000
201 Let24E] 49,000 49,000 0
= 34,300
Al 14,700
01 At 22l 2,000 2,000 0
Ootd ot FERMdI HMel 2,000,000& 2,000
= 1,400
Al 600
02 =224l 47,000 47,000 0
Odtd ot fRXdI HMel 47,000,000& 47,000
= 32,900
Al 14,100
202 044l 1,000 1,000 0
= 700
Al 300
01 = LH o4 1l 1,000 1,000 0
Ootd ot HtAY &% &0
1,000, 000& 1,000
= 700
Al 300
HOIZS A& 2el 6,000 6,000 0
201 Let24E] 6,000 6,000 0
01 At 22l 3,000 3,000 0
O el 2,000,000& 2,000
OYXIHIIE =AH &4 Xz 1,000, 000& 1,000
02 =224l 3,000 3,000 0
OHII=S™Mel ©=xg FHIKX  1,000,000& 1,000
OHJIEXMe SEXE |RFH 2,000,000& 2,000
SdO0EMeIXE 1,392,100 1,043,900 348,200
= 696,050
< 208,815
Al 487,235
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= 696.050
< 208,815
Al 487,235
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= 77,400
< 23,220
Al 54,180
o= Xsh 136,500, 000 136,500
= 68,250
< 20,475
Al 47,775
HH 2 I (BZAE D) 3,963,618 4,197,398 A 233,780
olet 2 | 3,888, 138 4,136,318 248,180
ol 2AH| 3,888,138 4,136,318 A 248,180
101 @124 dl 3,576,807 4,136,318 A 559,511
01 2= 60,187 52,909 7,278
CEEL R 60,187
S= 12,1243 x»4F «30A| 2t 128 17,459
S 10,952 *4H «30Al 2t 12& 15,771
=8= 9,832& x4 H «30Al 2tx 122 14,159
°9= 8,887 «4H«30Al 2t«123 12,798
02 JIEtE B = 3,994 5,271 A1,277
O (HRYZEFE)
11,002% = 1H «30Al 2t 128 3,994
03 2R (RIAHA)Z2RHE > 3,512,626 4,078,138 A 565,512
O3S 2 (53Y) 3,512,626
cJIE2=s 1,701,807,600& 1,701,808
ollegeldz 1,701,807,600& « 12 * 1% 204,217
oc¥I2g 1,701,807 ,600& *2/12%50% 141,818
ogxg 60,0003 x12& 53 38,160
cEXgIRSY 90,000 123 *53H 57,240
ocXHAEASE 105,000& » 128 »53H 66,780
CIIExd 62,328
— B Xt 40,000 *53H »0. 95+ 12& 24,168
-&& 20,0003 «53E «0.70x12& 8,904
- Hl =% 40,000 *53H »1. 15+ 122 29,256
cHIRSFIIHTE 130,000& x53H » 18 124,020
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